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#E & M X
UA” I LA 2 LA™ I3 UA” b4 LA 5 LA™ 16 B £ =
IEXSY I fER] fiupall R BEEXR | giyE | BENE

L mmmewsr e
I T R e R A N B ==
s e
I N 2 S0 R I R 2 R ] .
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TERE (EE-EES  |BAERE (RC-40) t=20cm |1@BHETLT m2 65.2 65 |GEAR)
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HOF TR B R R

L Mmoo B & WAL % & w &
oHl T E2V 1.
e/l T A—T e H Y b LA EEEE s000m3kE [ m3 337.
FE AR T = 1.
PR (EEE) ¥ | LiE B4, omPL | m3 25.
AR+ T & 1.
FEIRRE+ Jifi L& 54, omPA_E m3 399.
AR i+ m3 412.

FEIRRE+ Jifi L& 5.2 5mA m3 40. BEELT

FEIRRE+ fit g 5.2, 5mEL b4, OmAw | m3 71. EAE LT

FEIR I+ Ji T 5.2, bR m3 111. oL T
IERHEEIE L iy 1.
EEEIE () 1ER) [ wEt, BROWEL, Bkt | m2 49,
LTI (e 30) (s ] 2 30355l 70 4 m2 355.
B AP T K 1.
HeHh ¥ s AU C O ALER m3 132.
DA e R m3 132.




Fi JH B X & OHE KX B &
S S PN G RE N TR b ik
I L o (B 330. 2 1.8 5.7 337.7 m3
AT % 1-BAL 25.3 m3
4. Om=W 25.3 25.3
&R % T-BA2 399.0 m3
4. Om=W 310. 2 55. 8 33.0 399. 0
R %+ % JE % 1-BA3 40.9 m3
W<2.5m 40. 9 40. 9
A%t Ak 1-BAS 182.9 m3
2. 5m=W<4. Om 71.9 71.9
W<2.5m 108.8 2.2 111.0
PRHE L PRHE D 6.1 7.0 13.1 m3
HR T MR L 4.1 11.0 15.1 m3
ERETE T LT 405.2 m2
(B0 1=58) 49.9 49.9
(% 1-58) 255. 4 5.5 62.9 31.5 355. 3
TEER PEELE
PEAT + RIEY + AR LA+
V= 337.7 + 13.1 + 173.5 = 524.3 m3
fifi & A 1)
(SRR -+ BUfhE S« AR R IR R T+ JE B b+ B A T+ ) X B k=R
V= ( 253 + 88.8 + 40.9 + 182.9 + 151 )
X 1/0.9 = 392.2 m3
A 1
AR L X B k=R
V= 310.2 X 1.33 = 412.6 m3
T T (L&
AT R E
V= 524.3 - 392.2 = 132.1 m3




A + X 7t B =
£
i HI CAl
Al BEOHfE

Wrommo |F W m| R R

NO. 0 - 3.000 0.0 0.
NO. 0+ 0.000 3.0 0. 0. 30 0.
NO. 0+ 15.052 | BC.1 15. 1 0. 0. 30 4,
NO. 1+ 0.000 4.9 0. 0. 00 0.
NO. 2+ 0.000 20. 0 0. 0.05 1.
NO. 3+ 0.000 20. 0 0. 0. 10 2.
NO. 3+ 15.271 | EC.1 15.3 0. 0.45 6.
NO. 4+ 0.000 4.7 1. 1. 00 4,
NO. 4+ 1.859 | KA2-1 1.9 1. 1.20 2.
NO. 5+ 0.000 18. 1 0. 0.75 13.
NO. 5+ 18.677 | KE2-1 18.7 3. 1.95 36.
NO. 6+ 0.000 1.3 3. 3. 65 4,
NO. 7+ 0.000 20. 0 3. 3.75 75.
NO. 7+ 14.523 | KE2-2 14.5 4, 4.05 58.
NO. 8+ 0.000 5.5 3. 3.95 21.
NO. 8 + 15.527 15.5 9. 6. 30 97.
= &t 178.5 330.




A + X g B &
%2 %
KRR+ BAL(4.0mLLE)
Al BEOHfE

T T A 3 T T R N

NO. 0 - 3. 000 0.0 0.
NO. 0 + 0. 000 3.0 0. 0.10 0.
NO. 0 + 15.052 BC. 1 15.1 1. 0.90 13.
NO. 1 + 0. 000 4.9 0. 1.10 5.
NO. 2+ 0. 000 20. 0 0. 0. 30 6.
NO. 3+ 0. 000 20. 0 0. 0.00 0.
NO. 3 + 15.271 EC. 1 15.3 0. 0.00 0.
NO. 4 + 0. 000 4.7 0. 0. 00 0.
NO. 4 + 1.859 | KA2-1 1.9 0. 0. 00 0.
NO. 5 + 0. 000 18.1 0. 0. 00 0.
NO. 5 + 18.677 |[KE2-1 18.7 0. 0. 00 0.
NO. 6 + 0. 000 1.3 0. 0. 00 0.
NO. 7 + 0. 000 20. 0 0. 0.00 0.
NO. 7 + 14.523 |[KE2-2 14.5 0. 0.00 0.
NO. 8 + 0. 000 5.5 0. 0.00 0.
NO. 8 + 15.527 15.5 0. 0. 00 0.
a &t 178.5 25.




A + X g B &
%3 %
KRR+ BA2(4.0mLLE)
Al BEOHfE

T T A 3 T T R N

NO. 0 - 3. 000 0.0 0.
NO. 0 + 0. 000 3.0 1. 0.50 1.
NO. 0 + 15.052 BC. 1 15.1 7. 4. 45 67.
NO. 1 + 0. 000 4.9 7. 7.75 38.
NO. 2+ 0. 000 20. 0 4. 5. 80 116.
NO. 3+ 0. 000 20. 0 2. 3. 05 61.
NO. 3 + 15.271 EC. 1 15.3 0. 1. 05 16.
NO. 4 + 0. 000 4.7 0. 0. 00 0.
NO. 4 + 1.859 | KA2-1 1.9 0. 0. 00 0.
NO. 5 + 0. 000 18.1 0. 0. 00 0.
NO. 5 + 18.677 | KE2-1 18.7 0. 0. 25 4.
NO. 6 + 0. 000 1.3 0. 0. 50 0.
NO. 7 + 0. 000 20. 0 0. 0.25 5.
NO. 7 + 14.523 | KE2-2 14.5 0. 0.00 0.
NO. 8 + 0. 000 5.5 0. 0.00 0.
NO. 8 + 15.527 15.5 0. 0. 00 0.
a &t 178.5 310.




A + X 7t B =
% 4%
B EK+ BA3(0~2.5m) AN+ BA5(2.5~4.0m) BAE+ BA5 (0~2.5m)
I P
T T A 3 T T R N Wr o [ W E| R A8 LTI A 3 T R N 5=

NO. 0 - 3. 000 0.0 0.0 0. 0.
NO. 0 + 0. 000 3.0 0.0 0. 00 0. 0. 0.00 0. 1. 0. 60 1.8
NO. 0 + 15.052 BC. 1 15.1 0.4 0. 20 3. 3. 1.70 25. 0. 0. 60 9.1
NO. 1 + 0. 000 4.9 0.4 0. 40 2. 2. 2.90 14. 1. 0.70 3.4
NO. 2+ 0. 000 20. 0 0.4 0. 40 8. 0. 1. 40 28. 1. 1. 60 32.0
NO. 3+ 0. 000 20. 0 0.4 0. 40 8. 0. 0. 20 4. 1. 1. 45 29.0
NO. 3 + 15.271 EC. 1 15.3 0.0 0. 20 3. 0. 0.00 0. 0. 0.55 8.4
NO. 4 + 0. 000 4.7 0.4 0. 20 0. 0. 0.00 0. 0. 0. 20 0.9
NO. 4 + 1.859 | KA2-1 1.9 0.4 0. 40 0. 0. 0.00 0. 0. 0.25 0.5
NO. 5 + 0. 000 18.1 0.4 0. 40 7. 0. 0.00 0. 0. 0.25 4.5
NO. 5 + 18.677 | KE2-1 18.7 0.2 0. 30 5. 0. 0.00 0. 0. 0. 60 11. 2
NO. 6 + 0. 000 1.3 0.2 0. 20 0. 0. 0.00 0. 0. 0.75 1.0
NO. 7 + 0. 000 20. 0 0.0 0.10 2. 0. 0.00 0. 0. 0.35 7.0
NO. 7 + 14.523 | KE2-2 14.5 0.0 0.00 0. 0. 0.00 0. 0. 0. 00 0.0
NO. 8 + 0. 000 5.5 0.0 0.00 0. 0. 0.00 0. 0. 0. 00 0.0
NO. 8 + 15.527 15.5 0.0 0. 00 0. 0. 0.00 0. 0. 0. 00 0.0

a gt 178.5 40. 71. 108. 8




€S ] FH i A &
£
) B¥Em CL B kmE BL
] s S

£ & DA ) [T = £k & RIS T

NO. 0~ 3.000 0.0 .0 .0
NO. 0+ 0.000 3.0 0 0. 00 0. 0 0. 00 0.
NO. 0 + 15.052 | BC.1 15. 1 0 0. 00 0. 3 2. 15 32.
NO. 1+ 0.000 4.9 .0 0. 00 0. 3 4. 30 21.
NO. 2+ 0.000 20. 0 4 0. 20 4. .6 3. 45 60.
NO. 3+ 0.000 20. 0 .0 0. 20 4. .2 2. 40 48.
NO. 3+ 15.271 | EC.1 15.3 .0 0. 00 0. .0 1. 10 16.
NO. 4+ 0.000 4.7 .0 0. 50 2. 1 0. 55 2.
NO. 4+ 1.859 | KA2-1 1.9 1 1.05 2. .0 1.05 2.
NO. 5+ 0.000 18. 1 1 1. 10 19. .5 1.25 22,
NO. 5+ 18.677 | KE2-1 18.7 .0 0. 55 10. 4 1.45 27,
NO. 6+ 0.000 .3 .2 0. 10 0. .2 1. 30 L.
NO. 7+ 0.000 20. 0 .0 0. 10 2. 0 0. 60 12.
NO. 7+ 14.523 | KE2-2 14.5 .3 0.15 2. 0 0. 00 0.
NO. 8+ 0.000 5.5 2 0.25 L. 0 0. 00 0.
NO. 8 + 15.527 15.5 0 0. 10 L. 0 0. 00 0.
= i 178.5 49. 255.




(BUAF5E R T) + X 7t B &
£
it Hl CAl
Al S
T T A 3 T T R N
15 BT E R T
NO. 0 + 0.970 0.0 0.
NO. 0 + 2. 700 1.7 0. 0. 00 0.0
NO. 0+ 12.400 9.7 0. 0. 00 0.0
NO. 0+ 17.100 4.7 0. 0. 20 0.9
/N i 16. 1
275 BB T
NO. 0 + 1. 000 0.0 0.
NO. 0 + 2. 300 1.3 0. 0. 00 0.0
NO. 0 + 6. 300 4.0 0. 0. 00 0.0
NO. 0 + 9. 800 3.5 0. 0. 25 0.9
/N i 8.8
a &t 1.8




(B 6 1) + =y = "
Eil
KRR BA2(4.0mLLE)
] s S
LT T A 3 T T R N
15 BUfHE K T
NO. 0 + 0.970 0.0 0.0
NO. 0 + 2. 700 1.7 6.3 3.15 5.4
NO. 0+ 12.400 9.7 1.1 3. 70 35.9
NO. 0+ 17.100 4.7 0.1 0. 60 2.8
/N &t 16. 1
275 B T
NO. 0+ 1.000 0.0 0.0
NO. 0+ 2.300 1.3 3.3 1.65 2.1
NO. 0+ 6.300 4.0 0.8 2. 05 8.2
NO. 0+ 9.800 3.5 0.0 0. 40 1.4
/N 2l 8.8
a &t 55. 8




(B fhER 1) ii] 15 = =
%F 1
B ikm BL
Al iEN
’E & 1 [T
15 B E B T
NO. 0+ 0.970 0.0 0
NO. 0+ 2.700 1.7 0 3.00 5.1
NO. 0 + 12.400 9.7 .5 3.75 36.4
NO. 0+ 17.100 4.7 .6 1.05 4.9
/N &t 16. 1
295 WU E s T
NO. 0+ 1.000 0.0 0
NO. 0+ 2.300 1.3 1 2.05 2.7
NO. 0+  6.300 4.0 .5 2. 80 11.2
NO. 0+ 9.800 3.5 0 0.75 2.6
/N &t 8.8
= i 62.9




G A% T) + & 7t 5 =
1%
oA P i B CAL
T I
IRZRCYNHN
NO 0 + 0. 000 0.0 0.
NO 0 + 3. 000 3.0 0. 0. 35 1.
/J\ % 3.0
2 AR T
NO 0 + 0. 000 0.0 0.
NO 0 + 1.900 1.9 0. 0.00 0.
NO 0+ 12.500 10. 6 0. 0.25 2.
/J\ % 12.5
SHHEAR T
NO 0 + 0. 000 0.0 0.
NO 0 + 1.500 1.5 0. 0. 00 0.
NO 0 + 4. 200 2.7 0. 0.25 0.
/J\ % 4.2
45N T
NO. 0+ 0.000 0.0 0.
NO. 0+ 1.800 1.8 0. 0. 00 0.
NO. 0+ 6.400 4.6 0. 0. 25 L.
/J\ % 6.4
& i .




(i ABET) + & 7t 5 =
%2 %
il W KRR+ BA2(4.0mLL )
Wr ot | W R

IRZRCYNHN

NO 0 + 0. 000 0.0 0.1

NO 0 + 3. 000 3.0 0.0 0. 05 0.
/J\ % 3.0

2N T

NO 0 + 0. 000 0.0 0.0

NO 0 + 1. 900 1.9 4.1 2.05 3.

NO 0+ 12.500 10. 6 0.0 2.05 21.
/J\ % 12.5

SHHEAR T

NO 0 + 0. 000 0.0 0.0

NO 0 + 1. 500 1.5 0.5 0.25 0.

NO 0 + 4. 200 2.7 0.0 0.25 0.
/J\ % 4.2

45N T

NO. 0+ 0.000 0.0 0.0

NO. 0+ 1.800 1.8 1.9 0.95 L.

NO. 0+ 6.400 4.6 0.0 0.95 4.
/J\ % 6.4

33.




G A5 T) ] 5 B &
— F1x
WA BB e LiAH B
E & ¥ [
1SR T
NO. 0+ 0.000 0.0 .3
NO. 0 +  3.000 3.0 0 0.15 0.5
/N &t 3.0
275 N T
NO. 0+ 1.900 0.0 5
NO. 0 + 12.500 10. 6 .0 1.75 18. 6
/)N it 10. 6
3TN T
NO. 0+ 1.500 0.0 .0
NO. 0+  4.200 2.7 .0 1. 00 2.7
/N &t 2.7
45N T
NO. 0+ 1.800 0.0 .2
NO. 0 +  6.400 4.6 0 2.10 9.7
/N &t 4.6
= i 31.5




PR E T ¥ & £ B &
ol Mo B ¥ HLAL Hos: w5
ek LT =X 1.0
Z3 1) R m3 6.1
MR L A m3 4.1
AN T m3 2.2 | E¥LTICTEHE
EEEY (1) m2 5.5 | HEEETICTEE
I T = 1.0
7 L% v A NUBLITE [BFB-B 300 m 11.5
7" L3 ¥ A RUBLHIE [US1-B-B 300B m 21.0
BT = 1.0
b a—2L% (BJE%) |PKI-RC-D450 m 2.4
Lkt e = AR— T 2V 1.0
7L ¢ A MEAKHE B1000 X L1000 X H2000 e 1
7Ly A MEARE (B B1000 X L1000 X H2000 % 1

e

=

Tm.

B1000 X L1000/ 2#c#h i+ T-253F B




M

% X kR X

il

E¥ELT

HIRD  HET
V= 6.1
HRL gL
V= 4.1
PN
V= 2.2
TR AN C T uki Y
A= 5.5

U T
7Sy A NUBL IR
BFB-B 300

L= 11.50
US1-B-B 300B

L= 21.00

IR ta—2%E BFE)
PK1-RC-D450
L= 2. 40

Eoktt - =R —L T

T L% A NEK

B1000 X 1,L1000 X H2000
N= 1

B1000 X L1000 X H2000
N= 1

T

=2+

N= 1

(EEHER - BALKESR)
e IS L S

T F v A2 MEKBE (MEHE)

B1000 X L1000H 2KcHEhiF T-253F H

11.

21.

m3
m3
m3

m2

e




(BRI 1) LA 582 RIS S T T -
VI Jis PEHRY (CA2) ML (RA) #415% 1 (BAS) & {EHE BL W =
L T I e T A N - Wi m | CERWTE | A T I 23 o I N & DA I (55 W )
NO.-10+19.000 0.0 0.1 - - 0.1 - - 0.2 - - 0.5 - - No.~11+0.000
NO.-11+0.000 1.0 0.1 0.10 0.1 0.1 0.10 0.1 0.2 0.20 0.2 0.5 0.50 0.5
NO.-12+0.000 20.0 0.5 0.30 6.0 0.3 0.20 4.0 0.10 2.0 0.25 5.0
& 3 21.0 6.1 4.1 2.2 5.5




178 X

RUF TV a—LRy 7 A

420
60 , 300 60
g &
BEILZIL(1:3)
8 | EERE
- BAERA RC-40)
50 50
520
(10m¥%47=9)
ol X 4 4 R B =X B o=
<> F7 ) a—n® s 2 [BFB-B 300 L= 1.00 m W= 274  ke/fH
10.0+1.0 = 10. 0 {i
FEME e B EA (RC-40) t= 10 cm
0.520 X 10. 00 = 5.2 m2
5.2 X 0.10 = |( 0.5 m3)




UL

(US1-B-B 300B) A4 v

UBMAIE
(US1-B-B 300B)

430

300

BWELZIILA:3)

ERRA
BAERE (RC-40)

T
it
i

500
(1I0m¥472v)
BBl X 4 vl Ji) H = o &
UZRUHE US1-B-B 300B L= 2.00 m W= 268.0 keg/2.0m
10.0+2.0 = 5.0 &
FEERen AR (RC-40) t= 10 cm
0.50 X 10.00 = 5.0 m2

5.0 X 0.10 = |( 0.50 m3)




Ea2— L%

(PK1-RC-D450) 2 1

Efars)—+

a4 y— +(2)18-8-4088

S 0O v qO 4
2 A o - S
- _O,°.'_' o . " o _O,°_'_'
- BAWA (RC-40)
100 750 100
(1I0m¥4 7))
BBl X 4 4 g H = o=
b oo— A PK1-RC-D450 = 2.43 m W= 373.0 keg/2.43m
10.0+2. 43 = 1.1 K
IR 0.23 X 10.00 X 2 4.0 m2
g7V — a2z -0 t= 23  cm
18-8-40BB 0.15 m2
0.15 X 10.00 ( 1.5 m3)
FEERen AR (RC-40) t= 15 cm
0.95 X 10.00 = 9.5 m2
9.5 X 0.15 = (¢ 1.4 m3)




i

IREECS T Xy AR
L5t (7L v A B)
(1000 X 1000 X 2000)
No0O+1. 66 (L)
3550
3550 2300
1125 1300 1125
450 1400 450 R
2300
(13£%47=0)
ol X 4y 4 g H =X o &
15 Hfoi tht ZLFEy 2 K~ |1000X 1000 X 2000
W= 2790 ke/fH = 1.0 {#
FEBERS HARA t= 20 cm
(RC-40) 1.40 X 1.40 = 1. 96 m2
1.96 X 0.20 ( 0.39 m3)
aEe R = 5.0 A&

TV —F T

T-25 1000 X 1000/ 2K T




HEEEE T e R

5 Mol B B | B = i
(= =X L.
Z3 71 R m3 7.
ML 4 m3 11.
RS HUE L T =X 1.
oy ) — MEEmIEE L |SRERE Y M E T m3 3.
SRR AL T 2V 1.
X IR Comx (#kfH) m3 3.
ALSY Coik (Ek#) m3 3. 9.5t




| X & O HE K &
B+ T (LEHEESR)
RIS STk
PRAE 0
= 7.0 7.0 m3
HE L
V= 11.0 11.0 m3
S B L T EEWRE T XY
a7 Y — MEEYEUE L
R E )
Bt (700 X 700 X 700) N=24
@ V= (1.00X1.00X0.85-0. 70 X0. 70 X 0. 70) X2 1.01 m3
BOX 450 X 450 L= 6.0m
HEHTEE  W=420Kg/1. Om
® V= 420/1/2500X6.0 1.01 m3
U300B L= 21.5m
HEHEE  W=134Kg/1. Om
@ V= 134/1/2500X21.5 1.15 m3
b oa— A 6450 L= 10.0m
HEHTEE  W=373Kg/2. 43m
@ V= 373/2.43/2500%10.0 0.61 m3
V=1.01 + 1.01 + 1.15 + 0.61 3.78 m3
TR ALEE T
PEME (27 U — b (8RR )
V= 3. 78m3 3.78 m3
Ay (a7 ) — bk (B8R )
V= 3. 78m3 3.78 m3

W= 3.7 X 2.5 = 9.45t




(HEKHEE W E L) & A2 72 50 + i+ L =
HooR i IRAEY (CA2) HEL (RA) i B
Wi | IR | (R FE Wi m | CERIWEE | (A (55 FH W )
NO.-10+10.000 0.0 0.2 - - 0.3 - - No.~11+0.000
NO.-10+19.000 9.0 0.2 0.20 1.8 0.3 0.30 2.7 No.-11+0.000
NO.-11+0.000 1.0 0.2 0.20 0.2 0.3 0.30 0.3
NO.-12+0.000 20.0 0.3 0.25 5.0 0.5 0.40 8.0
& 3 30.0 7.0 11.0




() #E4E# (700 x 700 x 700)

1000

150

700

150

BEYHETIR

NOscale

(2) BOX 450 x 450 i
580 N
5 450 6
[=2]

SEEE: 420kg/1.0m

hhhjf#ﬂﬁssy,;

SEE2 134ke/1. Om

@ Ea—LE ¢450

SEE2:373kg/2. 43m
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Mo BT s B H R
7 | #m il W% HAL & i =
B R 2 EALBE T = 1.0
22 T LR K t=53cm m2 1,097.5 | ¥INE17.5t




ff ¥H B X & O E K B &
M R T
IR 22 TE JLER T
L TEALPR AR t=53cm
fE TERT (RAWTXIZ M) BRLZELETHEELY
A= 581.7 =~  0.53 1,097.5 m2
RN 30. Okg/m3
W= 581.7 X 30.0/1000 17.5 t

[E LAI100m22 v {#F & (t/100m2)

v
W

100.0 X 0.53 = 53
53.0 X 30/ 1000 =

1.59

t/100m2




R BREEZCEE T 3 B = -
il e gy sl

8 m) Wi w6 oot B ont|% & oo | oW ot &
NO. 0 — 3. 00 0.0 0.0
NO. 0+ 0.000 3.0 0.0 0. 00 0.0
NO. 0 + 15.002 | BC.1 15.1 0.0 0. 00 0.0
NO. 1 + 0.000 4.9 0.0 0. 00 0.0
NO. 2 + 0.000 20. 0 0.9 0. 45 9.0
NO. 3 + 0.000 20. 0 2.7 1. 80 36. 0
NO. 3 + 15.271 | EC. 1 15. 3 4.9 3. 80 58. 1
NO. 4 + 0.000 4.7 4.8 4. 85 22.8
NO. 4 + 1.8b59 |KA2-1 1.9 4.8 4. 80 9.1
NO. 5 + 0.000 18. 1 4.7 4.75 86. 0
NO. 5 + 18.677 |KE2-1 18.7 4.0 4. 35 81.3
NO. 6 + 0.000 1.3 4.0 4. 00 5.2
NO. 7 + 0.000 20.0 4.6 4. 30 86. 0
NO. 7 + 14.523 |KE2-2 14. 5 4.5 4.55 66. 0
NO. 8 + 0.000 5.5 4.4 4. 45 24.5
NO. 8 + 15.527 15.5 8.2 6. 30 97. 7

& it 178.5 581. 7
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A= 1544.14+(183.8+176. 1) X0.10 =1 1,580.1 m2
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AT HAfA (RC-40)  t=20cm

A= 39.15+23. 98 = 63.1 m2
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A HAMA (RC-40)  t=20cm

A= 6.30+30. 24+12. 17+16. 50 = 65.2 m2
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